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SECTION A (25 x 2 marks) 

For each question from 1 to 25, four options are given. One of them is the correct answer, Make
your cl)olce (1, 2. 3 or4). Shade the correct oval (1. 2, 3 or4) on the Optical AnswE3r Sheet (OAS) 
provided. 

1. Which animal has a 4-stage life cycle?

{1) 

cockroach: 

.(3) 

butterfly 

1 

(2) 

frog 

(4) 

grasshopper 
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SCHOOL 
LEVEL 
SUBJECT 
TERM 

SECTION A 

01 ···02

3 4 

Q 11 012 

4 4 

Q2.1 • 022
.· 

3 2 

SECTION B 

026) a) 

b) 

Q27) a) 

b) 

Q28) a) 

b) 

Q29) a) 

b) 

3 

4 
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03 Q4 05 Q6 07 QS 

3 2 1 4 4 4 

013 Q14 015 016 Q17 Q18 

3 1 2 1 4 1 

Q23 Q24 Q25 

4 3 1 

(i) Roots (ii) Leaf

Q9 010 

4 1 

Q19 020 

2 4 

(i) It transport food from the leaves to all parts of the plants (ii) Part of

the food-carrying tubes that lead to Q has been removed. Less food

made by the leaves is able to be transported to Q. The food-carrying

tube to P are still intact thus food will be able to be transported to P

Solid 

Liquid 

Clinical thermometer 

44 °c

030) A: North-pole 

B: South-pole 

031) a) Kathy must use the same containers

b) No. The seed in set-up S did not have water to survive. So it will not

germinate.

Pg 1 

https://freetestpaper.com/


c) As the amount of fertiliser added increases to 11 0g, the height of the
plant increases

d) 110g

Q32) a) Set-up R and S. The food in set-up S is broken into smaller pieces
while the food in set-up R is not

b) The food in R took the longest time to digest as it had the smallest
exposed surface area.

Q33) a) Flexibility
b) Material D. It has the least number of blocks added until it bended,

hence is is the most flexible material
c) It must be strong

Q34) a) Decrease. Air would occupy the space previously occupied by the
water

b) It would increase
c)

Q35) a) (i) 500 (ii) The lenses of reading glasses is transparent and allows
most light to pass through

b) The screen does not allow light to pass through
c)

rn X 

Q36) a) (i) In glass A (ii) IN the basin
b) So that the glass B will gain heat from the hot water and expand.

· · Glass A will lose heat to the ice and contracts
c) 28 degrees

. . . 

Q37) a) Iron bar B would attract the paper clip
b) The magnetic force of iron bar B is stronger as the set up has more

batteries thus a�tracting the paper clip
c) The iron clip will remain in the same position
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